

(25^(-x)) - 50= 5^(-x+1)
image1.wmf
(

)

(

)

(

)

10

log

10

log

5

log

10

log

5

log

10

5

10

,

5

,

225

0

50

5

:

.

0

,

5

0

50

5

5

5

5

5

5

5

5

5

5

5

25

5

50

25

5

5

5

5

5

2

1

2

2

1

1

2

2

2

1

-

=

=

×

-

=

=

=

-

=

=

=

-

-

>

=

=

-

×

-

×

=

×

=

=

=

=

=

-

-

-

-

-

-

-

-

+

-

-

-

-

-

+

-

-

x

x

t

корень

й

посторонни

t

D

t

t

уравнение

получим

t

t

обозначим

уравнение

квадратное

ное

показатель

x

x

х

х

х

х

х

х

х

х

х

х

х

х


oleObject1.bin

